RS : 50k N, /nof

150 3000 3000 150
= | — = FG1 /\ | =
== o &
Tv/h-8wh (7926) M16 L=450 SA/ o)
= 4 "Ey b =
- 300 300 -
150 | | |150 150 150
N
= S O =
~ F [z, = =
Tob-Emh (790816 L=450  Tvh-wk (792f) MIG 1=450
4 "FFy ) fi4 &}y )
/ =1
= N et ) M1 L=450 <
- fi4 &+ b o~
F 1 F 1
5000
| EBRR 1/50 |

T/h-kmb (7996) MI6 L=450

fg "Efy )
350 . 300 / 350
4-D16 /
D10 0150 -
5-D1( i =
N —] =
100 1000 100
F 1%
T/a-gwh (7926)) M16 L=45(
7-D13 g
D10 6300 -
D1 -
2-D13 N =
100 | 300 100
FG 1%
=T
RE#ENo. ZENo.
e EXE
[RRR—Z/NT R HHH 2045
AR | RN | 3K KF
EmAN - ERFEEN HSDHA 10443
/50 | femEAs B4 FRMIEKRRSH




